HHEME—(100L) Bt 22 s AELUEETENRNEAREE

H56 21: mAEPUGETER
KNEAMEE
(R §9.8)

RABOUEETE (MLE) 0 f—s8 B R

(1) & U 2 0 WRSHETE, Bl 0 82 U WERE
HigHRes, & 0 NEE f(0) g2— MVUE.

(2) &M%, Bl 0 K& ¢(0) B MLE
t(9) = t(6)

(3) EREMHFEANIEIHENEREET, t(0) 2
t(0) W—EfHETE.

(4) BAh, KREARES, & t(0) & 0 MUK, &
KEEAT,

def t(0) — t(0)
ST o2

N(0,1)

A

Q3

1 PR R THRE



HHEME—(100L) Bt 22 s AELUEETENRNEAREE

Hrp f(Y0) =EERMERN pdf 7£ Y BE (B
EREHELNEE, AIDMBREEXE pmf £ Y BE
p(Y'0) Z#).

t. L Z BERENK 0 RA LXS8FR 0, K%
H, 15 t(0) BBEMIREAE 100(1 — a)% EREERER

2
10) :I:za/QJ [32(99)] /nE [_32'”8J;(QY|9)]

~ t(é):l:za/Q-
9t(0)]° 82 In £(Y6)
— N7 nk | —

(o] /|

Bl 1. SkpEkkE
Yy, ..., Y "9 Bernoulli(p)
HIRHES Y B9 pmf
p(ylp) =pY(1 —p)' 7Y, y=0,1
PR R R

ll:lll}l

—~

p(1 —p)
2 KRB R TIREEE




HHEME—(100L) Bt 22 s AELUEETENRNEAREE

B 100(1 — )% 1EHEER.

> 5. 1 50.7 BFIL, & p ) MLE
=2 w=Yy
=1

n

W t(p) = p(1 —p) B MLE

t(p) = t(p) = p(1 — p)

B
ot(p) _ 0, o .
o —ap(p p°)=1-2p
X H
p(ylp) = pY(1 —p)1 =Y
=
Inp(ylp) =yinp+ (1 —y)In(1 —p)
LAk
Olnp(ylp) _y 1-y
op p l-—p
H
o%Inp(ylp) _ y  1-y
Op? p? (1 —p)?

3 RS R T RE



HHEME—(100L) Bt 22 s AELUEETENRNEAREE

e
02 In p(Y|p) Y 1-Y
E[_ Op? - E1?+(1—p)2
D 1—p
= S+
PLaTY
= — 4 —
p 1l—p p(1-p)
KA, &

t(p) = p(1 —p)
HI3EEL 100(1 — )% EREEMNS

2/nE [_82Inp(Y|9)]
Op2
— ﬁ(l—ﬁ)iza/z'
o2 /o 1
J(l 2p)/ p(1 —p)]|,=p

(1 — 5 _23)2
= ﬁ(l—ﬁ)iza/Q\/p(l p)(L = 20)

n

ot(p)
Op

t(],?\) :|: 204/2

4 RS R T RE



